ABSTRACT STATEMENT OF ELECTION EXPENSES

Cestilicat

This continente register costains 12 pages socially

surs evel

from 1 to 12

Returning Officer & 0.9.0 & Malappuram H.P.C & District Collector, Malappuram

Returning Officer
06 Malappuram H.P.C &
District Collector, Malappuram



350 - No. 161-18

Returning Onicer
06 Malappuram H.P.C.6District Collector, Malappuram

Returning Officer | 06 Malappuram H.P.C & District Collector, Malappuram summed faces 1 to 12. VIA

This continued ingres is pages south

ABSTRACE STATEMENT OF ELECTION EXPENSES

1	Name of the Candidate	Shri/Smt/Km. Dv. M. ABDUL SALAM
п	Number and Name of Constituency	06-malappuram.
=	Name of State/Union Territory	ICERALA.
N	Nature of Election (Please mention whether General Election to State Assembly/Lok Sabha/Bye-election)	Loic Sabita.
v	Date of declaration of result	04/06/2024.
И	Name and Address of the Election Agent	PRANAVAM, ME LAKKEM, PRANAVAM, ME LAKKEM,
VII	If candidate is set up by a Political Party, please mention the name of the Political Party	BJP.
VIII	Whether the party is a recognised political party	Yes/No

Place: maloppyram.
Date: 30,06,2024.

Cellsand Signature of the Candidate

Any other can pales expenditure

Name:

ABSTRACT OF STATEMENT OF ELECTION EXPENDITURE OF CANDIDATE

Sl. No.	Particulars	Amt. Incurred/ Auth. by Candidate/ Election agent (in Rs.)	Amt. Incurred/ authorized by Pol. Party (in Rs.)	Amt. Incurred/ authorized by others (in Rs.)	Total Election Expenditure (3)+ (4)+ (5)
1	2	3	4	5	6
I	Expenses in public meeting, rally, procession etc.:— I. (a) Expenses in public meeting, rally, procession etc. (i.e. other than the ones with Star Campaigners of the Political Party (Enclose as per Schedule-1)	80523.21	Vilye-cloction)		
\ no	I. (b) Expenditure in public meeting, rally, procession etc. with the Star Campaigner(s) (i.e. other than those for general party propaganda) (Enclose as per Schedule-2)	1010 1010 1010 1010 1010 1010 1010 101	90875430	Address of the El	908754.50
П	Campaign materials other than those used in the public meeting, rally, procession etc. mentioned in S. No. I above (Enclose as per Schedule-3)	2790627	bsea	12800-	2803427
Ш	(a) Campaign, through print and electronic media including cable network, bulk SMS or internet and Social Media in privately owned newspapers/TV/radio channels etc. (Enclose as per Schedule-4)	371700			371700
	(b) Campaign, through print and electronic media including cable network, bulk SMS or internet and Social media in newspapers/TV/radio channels etc. owned by the candidate or by the political party sponsoring the candidate (Enclose as per Schedule-4A)	NI			
IV	Expenditure on campaign vehicle (s), used by candidate (Enclose as per Schedule-5)	1619334	4	Ches	1619339
V	Expenses of campaign workers/ agents (Enclose as per Schedule-6)	6039.83		48000-	651983.
VI	Any other campaign expenditure	86982			84982-

Cursun >

VI	Expenses incurred on publishing of declaration regarding criminal cases (Enclose as per Schedule-10)	Party N. OF APPED	201		
VIII	VIII Expenses incurred on Virtual Campaign (Enclose as per Schedule 11)	bda.	JEON WC	At 1 Co.	Before the Di
	Grand Total 55	32452-76	908754	50	65,36,007-22

PART—III ABSTRACT OF SOURCE OF FUNDS RAISED BY CANDIDATE

SL No.	Particulars Particulars	Amount (in Rs.)
1	Day Ayab mod anoton mercula of documentation to star of box passaments as 2	3
I	Amount of own fund used for the election campaign (Enclose as per Schedule-7)	NIC
П	Lump sum amount received from the party (ies) in cash or cheque etc. (Enclose as per Schedule-8)	60,00,000 -
Ш	Lump sum amount received from any person/company/firm/associations/ body of persons etc. as loan, gift or donation etc. (Enclose as per Schedule-9)	36001-
	Total	60,36,001-

KRISHINAKUMAR.K.M
ADVOCATE & DISTRICT NOTARY
MANUERI, Reg. NO: 4871/2007
MALAPPURAM DISTRICT

Ceusing

PART-IV FORM OF AFFIDAVIT

Before the District Election Officer MALAPPURAM-KERALA. (District, State/Union Territory)
Before the District Election Officer MALAPPURAM-KERALA, (District, State/Union Territory) Affidavit of Shri/Smt./Ms. Dv. m. Abdul Salaw, (S/o, W/o, D/o) I, Cohammed Hancefor son/wife/daughter of
son/wife/daughter of
CASHUN, VAND TALADAM, DARHALLOOR, TRIV BUDRUM.
r/odo hereby solemnly and sincerely state and declare as under:—
(1) That I was a contesting candidate at the general election/bye election to the House of the People/
Legislative Assembly of
from
constituency, the result of which was declared on
(2) That I/my election agent kept a separate and correct account of all expenditure incurred/authorised by me/my election agent in connection with the above election between 30-03-3034-04-04-05-2024
(the date on which I was nominated) and the date of declaration of the result thereof, both days inclusive.
(the date of when I was nonlinated) and the date of declaration of the result diction, both days inclusive.
(3) That the said account was maintained in the Register furnished by the Returning Officer for the
purpose and the said Register itself is annexed hereto with the supporting vouchers/bills mentioned in the
said account.
(4) That the account of my election expenditure as annexed hereto includes all items of election
expenditure incurred or authorised by me or by my election agent, the political party which sponsored me, other
associations/body of persons and other individuals supporting me, in connection with the election, and nothing has
been concealed or withheld/suppressed therefrom [other than the expense on travel of leader's covered by
Explanations 1 and 2 under section 77 (1) of the Representation of the People Act, 1951].
(5) That the Abstract Statement of Election Expenses annexed as Annexure II to the said account also
includes all expenditure incurred or authorised by me, my election agent, the political party which sponsored me,
other associations/body of persons and other individuals supporting me, in connection with the election.
(Englose as pas Schadule V) The second of th
(6) That the statements in the foregoing paragraphs (1) to (5) are true to the best of my knowledge and
belief, that nothing is false and nothing material has been concealed.
Deponent eus es
Solemnly affirmed/sworn by Dr. M. Ababul Salam at Magin this
Solemnly affirmed/sworn by this this way of 20.2.4before me.
THE MANAGEMENT TO THE TENER WINDS
(Signature and Seal of the Artesting Authority i.e. Magistrate of the First Class or Oath Commission of North Public)

ACKNOWLEDGEMENT FORM

36-Malaparom HPC.
I acknowledge receipt of your letter No. K-b 2017 2024 (1)
10.6.2034 along with its enclosures containing, among other documents, a Register
Serial No for maintaining of my accounts of election expenses.
2. I have noted the requirements of law for maintenance of account of election expenses and lodging of true
of that account with the District Election Officer/Returning Officer.*
Yours faithfully,
Clesced
(Signature of Candidate with date)
*Strike off whichever is inapplicable.
ACKNOWLEDGEMENT (To be filled up by Office)
The account of the election expenses in respect of
(Constituency) result of which was declared on(Date) has been filed by him/on his
behalf on(Date) and has been received by me today the
(Date) of(Year).
(Date) of

Schedules- 1 to 11: Details of Elections Funds and Expenditure of Candidate

pensa	es in public meeting,	rally, procession etc. (ie:	other	than those with	n Star	Campaigners of	the l	Political party)	alan ana managan an alam alam an an
No		f Expenditure		tal Amount				Expenditure	
				in Rs.			by	t. incurred / Pol. Party with name	Amt. incurred by others
		2		3		4		5	- 6
1	Vehicles for transpor	rting visitors	2	08.028 C	20	850.00			
2		dal & Furniture, Fixtures,	03	-635				Manual Case	
3	Arches & Barricades	etc.			1	BV3	-	1 ATTOE	an a
4	Flowers/ garlands	-c 000		- 6000			especial management		
5	Hiring Loud speaker amplifiers, compare				*	3	. Un. ex		
6	Posters, hand bills, Cut-outs, hoardings	pamphlets, Banners,							
7	Beverages like tea, etc.	Water, cold drink, juice				eomi nakuma	93		
8	Digital TV -boards of tickers boards, 3D of	display, Projector display, display				sudbasoxs bal			
9	Expenses on celebr musicians, other ar	ities, payment to tists remuneration etc.			is it	restable bits on			
10 ,	Illumination items I etc.								
11	Expenses on transp vehicles/ boats etc. celebrity or any oth than Star Campaign								
12	processing processing processing processing processing	n/ generator charges		ataya II		aporty y to a contract of the			
13	Rent for venue	gya yi kumundiga qayaqan udu ara isalan mattara isalah sa gili gara isaqan na oʻzar saqan nadi	39	673.72	3	967342			
14	Guards & security	charges OHAMA							
15	Boarding & lodging celebrity, party fun	and the second s							
16	Others experses		3	4000.00					34000
	Total		9	4523-22	_ (305234	2	/ ^	34000
				Schedule- 2				auditaeoto io	
Exp	penditure in public m	neeting rally, procession et	c. with	n the Star Camp eneral party pro	aigne	er(s) as apportion nda)	ed to	candidate (ie:	other than
S.No	Date and Venue	Name of the Star Campaigner(s) & Name of Party	of	nrocession e	tc.	diture on pllb with the Sta andidate (As oth n Rs.	ar (Campaigner(s)	Remarks, if any
1	2	3				4			5
					Soi	arce of Expenditu	ire		
				Amount-by Candidate/Age		Amount by Poli Party	Political Amount by Others		
1	15.4.24	Sm NARENDR	A	-					
2	Kymem tenlam					908754	20		i i
3	tou and	1531					1	\	

Cellson D

4

Total

Schedule-3

Details of expenditure on campaign materials, like handbills, pamphlets, posters, hoardings, banners, cut-outs, gates & arches, video and audio cassettes, CDs/ DVDs, Loud speakers, amplifiers, digital TV/ board display , 3 D display etc. for candidate's election campaign (ie: other than those covered in Schedule- 1 & 2)

S. No.	Nature of Expenses	Total Amount in Rs.	Sou	Sources of Expenditure					
			Amt. By candidate/ agent	- Amt. By Pol. Party	Amt. By others				
1		06 93 028	8 4	5	6	7			
1	Notices/Posters Graffitti	516356-		The second secon	12800				
	Cloth Board	846372-							
3	Tshivstumbrelle.	660000 -							
	others.	78699-	A CONTRACTOR OF THE PARTY OF TH						
Total	American de la companya de la compa	2803427	2790627		19800				

Schedule-4

Details of expenditure on campaign through print and electronic media including cable network, bulk SMS or Internet or social media, news items/TV/radio channel etc., including the paid news so decided by MCMC or voluntarily admitted by the candidate. The details should include the expenditure incurred on all such news items appearing in privately owned newspapers/TV/radio channels etc.

S. No	Nature of	Name and address	Name and address of	Total Amount in	Sources of Expenditure				
	medium (electronic / print) and duration	of media provider (print /electronic /SMS / voice/ cable TV, social media etc.)	agency, reporter, stringer, company or any person to whom charges / commission etc. paid/ payable, if any	Rs.	Amt. By candidate/ agent	Amt. By Pol. Party	Amt. By others		
1	2	3	4	5	6	7	8		
1	SMS/ Vortal	Roya	Prit Comm	277300.	277300	constitution in manufacture (the state of the state of th			
2		0.16	Into			American in the second of the	Accession and the second second second		
3	to Book		Stukons.	94400	94400				
4	A CONTRACTOR OF THE PROPERTY O	Annual contract of the Contrac			a samuel a description de la company de la c	granted to a substitute to large his big on order on the second	-		
Total				371700	371700				

Schedule-4A

Details of expenditure on campaign through print and electronic media including cable network, bulk SMS or Internet or social media, news items/TV/radio channel etc., including the paid news so decided by MCMC or voluntarily admitted by the candidate. The details should include the expenditure incurred on all such news items appearing in newspapers/TV/radio channels, owned by the candidate or by the political party sponsoring the candidate.

S.No	Nature of medium	Name and a.ddress of media	Name and address of agency, reporter, stringer,	Total Amount in Rs.	Sources of Expenditure				
	(electronic/ print) and duration	provider (print /electronic /SMS / voice/ cable TV, social media etc.)	company or any person to whom charges / commission etc. paid/		Amt. By candidate/ agent	Amt. By Pol. Party	Arnt. By others		
1	2	3	4	5	6.	7	8		
1				2013/4	4-2456	Z1			

Ceuson

3		1			N					
					10	140				
-				/				ğ.	agina Saciona (maginina 1866) and almost an agrae and almost an agrae and a second and a second and a second a	
		1	1	- Commission of the Commission	i i i grajnajnosta a managaman je i i indiga da izabi i in				TOTAL TOTAL STATE OF THE STATE	AND PROPERTY OF THE PROPERTY O
		and the second s	and the second s	and the second particular second	And the section of the second section of the sectio	A contraction of the property of the party o				
thedi	ule -5	e on campaign ve		A and not	L ovnonditure 0	n vehicle(s) fo	or candidate	's election	campaign	
stais	of expenditure	e on campaign ve	ehicle (S	s) and poi	1 experialitate o	qualitation and the second of				
No	Regn. No. of	Hiring Charges	of vehic	le		No. of Days for which	incurred/	Source o	f Expenditure	
	Vehicle & Type of Vehicle	Rate for Hiring	Fuel ch	narges covered	Driver's charges	used	auth. in Rs.	Amt. By candidat	Amt. By e/ Pol. Party	Amt. By others
		of vehicle/ maintenance		hiring)	(If not covered	LEM		agent	TEI	
		& vade	WOV		under hiring)	ISIP	11			
		100				Lectur	-	6	7	8
1	2	3a		3b	3c	4	5	0		
1	-650.00	las				اء جاء				
2		Sep	16×	eu :	sheela .	4)~	1		B Jakin	0.808
3										
4 Total				A SEE SEE			16193	1619	234 — ,	
Sche	dule- 6	ure on Campaign	workel	rs/ agents	s and on candi	dates' booths	and a second			istribution
Sche Detai	s of expenditures slips	The second secon	· · · · · · · · · · · · · · · · · · ·	personal posterior Dela labora interpreta	- Andrewson - Control of the Control	Total amt.	(kiosks) ou		g stations for d	The same of the sa
Sche Detai	s of expenditu	ure on Campaign Expenses on Ca Nature of Expe	ampaigr	personal posterior Dela labora interpreta	- Andrewson - Control of the Control	Total amt.	(kiosks) out	tside polling	g stations for d	istribution Amt. By others
Sche Detai of voi	s of expenditurers slips Date and Venue	Expenses on Ca	ampaigr	workers	No. of worker / agents No.	Total amt.	(kiosks) ou Sources Amt. By candidat	tside polling	g stations for d ture Amt. By Pol.	Amt. By
Sche Detai	s of expenditurer's slips	Expenses on Ca Nature of Expe 3a Candidates' bo (kiosks) set up distribution of	ampaigr nses ooths for	workers Rate	No. of worker / agents No. of kiosks	Total amt. incurred/ auth. In Rs	(kiosks) ou Sources Amt. By candidat	of Expendi	g stations for d ture Amt. By Pol. Party	Amt. By others
Sche Detai of vot	s of expenditurers slips Date and Venue	Expenses on Ca Nature of Expe 3a Candidates' bo (kiosks) set up	ampaigr nses ooths for voter's	workers Rate	No. of worker / agents No. of kiosks	Total amt. incurred/ auth. In Rs	(kiosks) ou Sources Amt. By candidat	of Expending el agent	g stations for d ture Amt. By Pol. Party 6	Amt. By others
Sche Detail of voi S.No	of expendituers slips Date and Venue	Expenses on Ca Nature of Expe 3a Candidates' bo (kiosks) set up distribution of slips Campaign wor honorarium/ s	ampaigr nses ooths for voter's	workers Rate	No. of worker / agents No. of kiosks	Total amt. incurred/auth. In Rs	(kiosks) out Sources Amt. By candidat	tside polling of Expending el agent 5	g stations for d ture Amt. By Pol. Party 6	Amt. By others
Siche Detail Si No	s of expenditurer's slips Date and Venue	Expenses on Ca Nature of Expe 3a Candidates' bo (kiosks) set up distribution of slips Campaign wor honorarium/ s etc.	ampaigr nses ooths for voter's	workers Rate	No. of worker / agents No. of kiosks	Total amt. incurred/ auth. In Rs 4	Sources Amt. By candidat	tside polling of Expendirel agent 5	g stations for d ture Amt. By Pol. Party 6	Amt. By others
Schee Schee Detail of vot S.Nic	s of expenditurer's slips Date and Venue	Expenses on Ca Nature of Expe 3a Candidates' bo (kiosks) set up distribution of slips Campaign wor honorarium/ setc. Boarding	ampaigr nses ooths for voter's	workers Rate	No. of worker / agents No. of kiosks 3c	Total amt. incurred/auth. In Rs 4	(kiosks) our Sources Amt. By candidat	tside polling of Expending el agent 5	g stations for d ture Amt. By Pol. Party 6	Amt. By others
Siche Detail of vot S. No. 1	s of expenditurer's slips Date and Venue	Expenses on Ca Nature of Expe 3a Candidates' bo (kiosks) set up distribution of slips Campaign wor honorarium/ setc. Boarding Lodging	ampaigr nses ooths for voter's	workers Rate	No. of worker / agents No. of kiosks 3c	Total amt. incurred/ auth. In Rs 4	(kiosks) our Sources Amt. By candidat	tside polling of Expending el agent 5	g stations for d ture Amt. By Pol. Party 6	Amt. By others
Siche Detail of vot S. No. 1 1 2 3 4 5 Tota	s of expenditurer's slips Date and Venue 2	Expenses on Ca Nature of Expe 3a Candidates' bo (kiosks) set up distribution of slips Campaign wor honorarium/ setc. Boarding Lodging Others	ampaigr nses ooths for voter's kers alary	Rate 3b	No. of worker / agents No. of kiosks 3c	Total amt. incurred/auth. In Rs 4	(kiosks) our Sources Amt. By candidat	tside polling of Expending el agent 5	g stations for d ture Amt. By Pol. Party 6	Amt. By others
Siche Detail of vot S. No. 1 1 2 3 4 5 Total	s of expenditurer's slips Date and Venue 2	Expenses on Ca Nature of Expe 3a Candidates' bo (kiosks) set up distribution of slips Campaign wor honorarium/ setc. Boarding Lodging	ampaigr nses ooths for voter's kers alary	Rate 3b	No. of worker / agents No. of kiosks 3c	Total amt. incurred/auth. In Rs 4	(kiosks) our Sources Amt. By candidat	tside polling of Expendi el agent 5	g stations for d ture Amt. By Pol. Party 6	Amt. By others 7 4800

Cleiserd

T	1	2	,		N. Comin	3					1		-			1
	1					3					4				5	
-	2							-							recorded to the control of the cont	
-	3					-	1	VII	1							1 8
	4	<u> </u>		All (Mary Land Alle in	-	et the control of	- 1	71					-		a transmission	
Tot						********				-						
Scl	nedule- 8						Me species and			The same of the same of the same		and the second	L			
Det	ails of Lur	np sum	amoun	t rece	ived	from	n the	party (ie	es) in	cash or ched	que	or DD or by Ad	ccount	Transfer		and the state of t
S.	Name	of the	Political	Party		Da	ite	elis e e grande de la companya de l	Cas	4	-	D/ Chance	Marin Maria	An agricultural state of	Marinovico (colarigue)	
No.			rondear	arty		Da	ile.		Ca	NI.	W	D/ Cheque no. ith details of d ank	etc. rawee	Total Am	ount in	Remarks
1	***************************************		2	OFF SERVICE CONTRACTOR			3			4		5	of Feeding Commission of the C	6	A CEPTRAL TOTAL STREET	7
1	10	55	φ.			2	141	24			1	Bomic		20.00	-000	
2						111	4	24				1 vans	PPV	20.00	2000	00 - 10 - 10 to
3			The second second			19	4	24				5 Fram 5	U	20 m	000	
4			8											-10/00	,000	
	Total													•		
								1,						0,00,00	- 000	- 1
	dule- 9								20			praci				
-	-	p sum a	amount	receiv	red f	rom	any p	erson/c	comp	any/firm/asso	ciat	tions/body of p	ersons	etc. as loa	n, gift o	or donatio
S	Name a	and add	fress	Da	ite		Ca	esh	0	DD/ Cheque n	0.	Mention whe	ther	Total Am	ount	Remarks
No.	manan in salah in salah pelangan ang salah in	Promise de la composição				*********		***************************************	е	tc. with detail f drawee ban	s	loan, gift or donation etc.		in Rs.	ount	neridiks
1	10.00	2	na etta veganenni etta vega		3	10	torresponding	4		5		6		7		8
1	Vine			10	5 3	121	1	To the transport of th		001-		A CONTRACTOR OF THE PARTY OF TH		1001.		omic
2	Shi	Mels	college	8		124				25000 -	-			25000	57	vicro!
	3011	ne	N.	24	9/3	3/21				0,000		A company of the comp	Matterial Accessory/	10000		
4	Mary consist of the state of th	orton make and a	negovine principal programme de l'access	d.	olde Principal	77160,000 PASSON	-		0	14610	24	35,00	lo	noti	Ma	0
-company	Total	transporter transport	Andrea Control (1955) and a second	The second second second	-	annien www.	-	······································		11/17/11	1	to Ser	de	vine	يتك	المعاد
	dule- 10	tha manana tha ma			photo ergovos	-	ni ir min mananiji	and the second second second	All at this was to be		interes	PECT TEXT OF THE SENS SENS SENS SENS SENS SENS SENS SE		3600	1-	ma
	of expen	diture	incurred	on p	ublis	hing	crimii	nal ante	cede	nts, if any in	nev	vspaper and T\	/ Chan	nel		
L lo.	Newspaper								Television					ue/DD	ent ronic/ched)/cash)	
	Name of Newspap			ate of blishin	ng	ha	xpense ave be Rs.)	es that en incu	may	Name of channel		ate & Time of sertion/teleca	may I	nses that have been ed (in	(Pl. sp	cony)
1	-	2		3			CRE	4		5		6		7		8
							1	JIL								
				the throughton a sale as									Commence of the second			*******************************
	The second secon	Processing and Advanced		-		and annual	-				8					

Clusia

Schedule							
Details o	of election expenses in	curred on	Virtual Cam	ipaign			
	Nature of Virtual Campaign (Indicate Social Media Platforms/Apps/Other means)	Name of content creator	Name of media to disseminate message	Total Amount in Rs.	Sources of Expenditure		
					Amount by candidate/a gent	Amount by political party	Amount by others
1	2	3	4	5	6	7	8
		N	114-	*			

Note:

In Schedule 5:-

copy of the order containing list of all vehicles for which permit issued by the

Returning Officer to be enclosed.

If the vehicle is owned by the candidate/his relative/agent are used for election purpose, notional cost of hire of all such vehicles, except one vehicle if owned and used by the candidate, notional cost of fuel and drivers salary for such vehicle, shall be included in total amount of expenditure in the above table.

In all schedules if any expenditure on goods and services, provided by the Political Party; or provided by any person/ company/ finn /associations/ body of persons etc. on behalf of the candidate, then the notional market value of such goods or services

are to be indicated, in respective columns.

In Part-III, the Lump-sum amount of fund received from the political party or others or the candidate's own funds, should be mentioned date wise. In all such cases such amounts are required to be first deposited in the bank account of the candidate, opened for election expenses.

Each page of the Abstract Statement should be signed by the candidate

Cellsand

certificate

This register contains 12 pages numbered from 1 to 12

Returning Officer
06 Malappuram H.P.C &
District Collector, Malappuram



SCHDULE 5

	VEHICLE NUMBER		DATE	DATE	DAYS	RATE	AMOUNT
1	KL 11 AT 3157	JEEP	17.4	24.4	8	8000	64000
2	KL F 0437	JEEP	17.4	24.4	8	8000	64000
3	KL 55 1529	JEEP	17.4	24.4	8	8000	64000
4	KL 10D 2975	JEEP	17.4	24.4	8	8000	64000
5	KL 58 R 2563	JEEP	17.4	24.4	8	8000	64000
6	KL 11 B 1366	JEEP	17.4	24.4	. 8	8000	64000
7	KL 11B 4986	CAR	15.4	24.4	10	8000	80000
8	KL 53 Q 1401	GOODS CARRIER	15.4	24.4	10	8000	80000
9	KL 53 Q 1612	GOODS CARRIER	15.4	24.4	10	8000	80000
	KL 53 Q 1833	GOODS CARRIER	15.4	24.4	10	8000	80000
	KL 60 7002	CAR	15.4	24.4	10	8000	80000
12	KL 10 B 4529	CAR	15.4	24.4	10	8000	80000
	KL 10C 1939	JEEP	15.4	24.4	10	8000	80000
	KL 09 G 628	CAB	15.4	24.4	10	8000	80000
	KL 52 4719	CRUISER	15.4	24.4	10	8000	80000
	KED 1447	JEEP	16.4	24.4	9	8000	72000
	KL 10 A 8242	CAR	20.4	24.4	5	8000	40000
	KL 42 U 2129	GOODS CARRIER	20.4	24.4	5	8000	40000
	KL 53 3784	CAR	22.4	24.4	3	8000	24000
	KL 53 M 0741	GOODS CARRIER	22.4	24.4	3	8000	24000
	KL 52 R 0993	GOODS CARRIER	22.4	24.4	3	8000	24000
22	KL 10 AH 3175	CAR	24.4	24.4	1	8000	8000
	TOTAL						1336000
	MIKE PERMISSION						11680
	CANDIDATES CAR	RATE	DAYS	RENT	PETROL & SERVICE	WAGES &	TOTAL
					CHARGE	FOOD	TOTAL
	PB 10 FH 5005	1333	48	63991	129163	70500	263654
	KL 53 U 4418	1000	8	8000			8000
	TOTAL						1619334

mikepermism

Offeded with voctors voucle 26, 43